Q.P. Code - 13433

Fourth Semester B.Com. Degree Examination, September 2020
(Non-CBCS - Revised New Scheme)
Commerce
FINANCIAL MANAGEMENT

Time : 3 Hours| [Max. Marks : 80

Instructions to Candidates : Answer the questions either completely in English or in
Kannada.

SECTION - A/aRn - &

Answer any TEN sub-questions of the following. Each sub-question carries
2 marks : (10 x 2 = 20)
cIRITEe BR) evs-BBron eudda. I3 30 eu3TE, 2 BosiLy |

1. (a) What is Financial Decision? e e e TS
SraE St & for women
EnsiE dednrs ordery? S oo g ek AR R
- TURLRWS.
(b) What is meant by wealth maximisation?
RoT3F ridarsUm aoEUeda?

() Mention the four steps in financial planning.
@Bz clsesdobd ey, FSnds) suefedi.

(d) Write any two limitations of pay-back period.
Sodhaeas vShob 20r) #.e,F3NYE, wiod.

(e) Sales ¥ 15,00,000, variable cost ¥ 8,40,000 and fixed cost 7 1,20.000, it has
a debt of T 9,00,000 at 5%. What is EBIT?

Seoetd dwe. 15,00,000, ©o sﬁﬁu dwe. 8,40,000, Eé}d dzéd de. 1,20,000 me
¥ 9,00,000 de. 50 wRoados shwen EBIT Hﬁ.}tﬁom LBaLb,

() What is capital budgeting?
WOBIYE Bod3,od aoudesa?

(g} What is financial leverage?
BT 38 Soridery?
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(h) Is initial investment is T 4,00,000, annual cash inflows ¥ 60,000. Calculate
PBP.

wodzey @88 T 4,00,000, Zo&Fg drich urisid ¥ 60,000 SHobmesd esfobal?

{ifj Mention the two differences between gross working capital and net working
capital.

wbdy B0 —:ﬁﬁﬂ# FaobF Rk ROBHRYETLS UG I ANV, 34

)} What is dividend?
eRe08 ooddesa?

(k)] How do you calculate the ARR?
ARR M‘l ol bBodud dpew Sert?

(l Whatis meant by capitalisation?
LOBYeoUnn uor $¢5h

SECTION - B/ - 8

Answer any THREE questions of the following. Each question carries 5 marks :
(3 x5=15)
oinzoerde Suedy a’_!ﬁnlﬂﬁ?ﬁ gugd2. I3 70 tl'ugdta 5 wosnid)

2. Explain the goal of profit maximisation,
G rdedrsong rdodml S0

3. What is working capital? Briefly explain the various types of working capital.
Fa0bFmedk woEEeY H0UUeE? DY Dedod FobF ek WoETRYE Wi FofFmen AFON.

4.  Calculate operating and financial leverage from the following :
Sales 10,000 units at ¥ 100 per unit
Variable cost ¥ 60 per unit
Fixed cost ¥ 4,00,000
Tax rate is at 30% and 8% debt ¥ 10,00,000

$ainzg 2dad §ob 38y Bewns Bdab §abrivs) B $¢8or IS0RYen Fomd LBOND :
SRoets 10,000 odwedefried, I8 oluedts*n ¥ 100 dod

B0 3t X 60 B3 ks r

30 . T 4,00,000

@ E=

301t 30% R3) OB T 10,00,000 Be. 8 wB 7Y
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XYZ Ltd. is considering purchase of a machine. Two machines are available
X and Y. The cost of each machine is ¥ 3,20,000 and has an expected life of the
machine is 5 vears each. Net profit before tax and after depreciation during
expected life of the machines are given below :

Year Machine X Machine Y’

3 4
: 90,000 1,70,000
2 qﬂ\ﬂﬂﬂ gﬂ;ﬂ{)c i T ¥l el o= | :*."'“'-.Li:"' { '.' r-'.s
: : i erfCwe Fa »’u-;_-ib'l.;_.‘l"l
p e o SR LIS ARY, FUMK UK.
4 90,000 60,000
5 60,000 40,000

Which machine would you recommend under Average Rate of Return
(ARR method). If tax rate is 30%?

XYZ do. &. HoB0dn 2,060 0033wy, HOeBRen erantus woBmeys wrl odeaidd. 208
abogrith X 3 ¥ e acdd. 33 abogd, weehcos Bm T 3,20,000, B8 abo3d
Bedosh 5 Sdrrivencogd. 338¢ $AEIS Hom, 30t Aed alaers wodmed BRBT
w00 NOCE3 B¢ Bmood) g EYsorod B3
JFF  obo3 X' obos, Y’
? 3

1 90,000 1,70,000

2 40,000 90,000

3 50,000 40,000

4 90,000 60,000

5 60000 40,000

301t G 30% 20w ek, HEIR ISRV, WIE.LOB) FUaFD TIFe BUHEY, Fomk) LAB
adRs 003 S, DBeBIEn 3y Lok InEe VLTI, VeBI3O?

Briefly explain the types of dividend policy.
eRyR08 Dedob IFNYR, So§zoN IO
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10.

SECTION - C /et = 2
Answer any THREE questions of the following. Each question carries 15 marks :
(3 x 15 = 45)
aiRZwerte Saech FErier evddl. B3 #0 vy 15 wosrish :

Explain the determinants of a financial plan.
BHTT oleczsoba, AgFORS wosrivs) 230

Explain the emerging role of financial manager in India.
HUIEY Bnm JTWTE0 rwoaleesyd T3 wif HI0L.

What is working capital management? Explain the different sources of working
capital.

FoodF ek woBmYE ASFBEE doridery? S8y Robrmb wodmYE Sweorids) soigaen
DT0A.

Likith Co. Ltd. had a share capital of ¥ 2,00,000 divided into shares of ¥ 10 each.
It has a major expansion programme requiring an investment of another
¥ 1,00,000. The management is considering the following alternatives for raising
this amount.

(@) Issue of 10,000 equity shares of ¥ 10 each
(b) Issue of 10,000, 12% preference shares of ¥ 10 each
(c) Issue of 10% debentures of T 1,00,000

The company’s present EBIT is T 80,000 p.a.

You are required to calculate the effect of each of the above modes of financing
on the EPS pressuming.

(i) EBIT continued to be the same even after expansion
(i) EBIT increases by ¥ 20,000

ODs* B0z T 108 Sva welad ¥ 2,00,000 Bedd woded Reobety, wPIAB e
22)B0dnA T 1,00,000198) Rorjisen 8 dd8om 235 Bewams oleeirivn FO8edRI :
(a) ¥ 100 S0 detodd 10,000 mIRa, Bedoriuay 30RO

(b) ¥ 100 B02 SeSodd> 10,000, Be. 12 65,3 Jecoriva A0

(c) 8e 100 1,00,0000 mos3nvs) JSORHT

Sozidodn $0rt ) wHab) dedds Heden MYNLI voeah HarE T 80,000M¥RY
BooBY. HedT FowR cleendod IOEINYT, I3 B vmvob (EPS)deards
LB bR, B SYE0E SomEAESNEN Bom) LBOWS.

() 381t 3y wB deddI Loten M9AGHS emvab) BB FoITp Lobud, 2
(i) 381t s 1B, Rerors Rorten MO a0l T 20,000 HoBTTE0S Bepd
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11. From the following information evaluate the proposals using,
(a) PBP
() ARR and
(¢} NPV@ 10%

Particulars Machine ®° Machine %Y’
Cost of investments : ¥ 5,00,000 ¥ 6,00,000

Life of the machine : 5 years 6 years

Net income after depreciation and tax.

1st year 160,000 60,000 £ e Cellegs of :'1“:‘
m i migrtt JOne

E're."" il B i '\'.1|'.Ii.ic't ta )

2nd year 1,40,000 90,000 coiencs & Z:fﬁt.wmﬁua.

3rd year 50,000 1,00,000

4t year 60,000 1,00,000

5th year 70,000 90,000

6th year - 60,000

Depreciation is provided under straight line basis.

The present value @ 10% p.a., tax rate @ 30%.

Year : 1 2 3 4 5 6

P/V factor @ 10%: 0.91 0.82 0.75 068 062 0.56
39t S.ticha Sb3iabn) BEd2, JUNS S0 YR WYL DAl :
(a) Sochmeas e3p (PBP)
(b) =oexd F3Fe T (ARR)
(c) Iy JRy3 3¢, (NPV) Be. 10 Fod

a30rie oo, X' odod, Y’
saldob 38, ¥5,00,000 ¥ 6,00,000

cbod @ wed®ID 5 Jderieh 6 J3Frido
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509 33, 20rtab FoIow Y ey
1 3@ 1,60,000 60,000
2 33F 1,40,000 90,000
3 3@ 50,000 1,00,000
4 3¢ 60,000 1,00,000
5 3¢ 70,000 90,000
6 Jdr - 60,000
33990hiy, $ed 8rR0n SPIaHT), VRO,
)3 S0, Be. 100 FoGOH. 301 Se. 30 Ty,
3F : 3 2R Rl e SUEIRE

3743 B g 10 dod: 091 0.82 0.75 0.68 0.62 0.56




